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Word problems subtraction taking as base 10.

Example:

Solution:
Number of students = ___.

Number of students went out = ___.

1)  In a class there are 80 students. 50 students went out. How many students are

     still remaining in the class room?

Remaining students in the class room = ___ - ___ = ___.

Students (80)

SUBTRACTION

Solution:
John has ____ sticks.100

Alice has ___ sticks.60

John has 100 sticks. Alice has 60 sticks. Alice wants to have the same number of 

stickers as John. How many more stickers does Alice need?

(Alice wants to have the more number of stickers as John)

Alice has

(60) sticks

John has 

100 sticks

Alice has more 

sticks (40)

Alice need more stickers = ____ - ___ = ___.100 60 40


